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QUESTION 1

Which of the following services can you control access to via IAM? 

A. Networking components 

B. Compute Instances 

C. All services including IAM 

D. DB systems 

Correct Answer: C 

Oracle Cloud Infrastructure Identity and Access Management (IAM) lets you control who has access to your cloud
resources. You can control what type of access a group of users have and to which specific resources. This section
gives you an overview of IAM components and an example scenario to help you understand how they work together. 
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Reference: https://docs.cloud.oracle.com/en-us/iaas/Content/Identity/Concepts/overview.htm 

 

QUESTION 2

Which statement is true for an oracle cloud Infrastructure (OCI) compute instance? 

A. Compute instance always get a public IP address 

B. Compute instance does not use a boot volume 

C. Compute instance cannot leverage auto scaling feature 

D. Compute instance always get a private IP address 

Correct Answer: D 

When you create an instance, the instance is automatically attached to a virtual network interface card (VNIC) in the
cloud network\\'s subnet and given a private IP address from the subnet\\'s CIDR. You can let the IP address be
automatically assigned, or you can specify a particular address of your choice. The private IP address lets instances
within the cloud network communicate with each other. 

Reference: https://docs.cloud.oracle.com/en-us/iaas/Content/Compute/Tasks/launchinginstance.htm Instances use IP
addresses for communication. Each instance has at least one private IP address and optionally one or more public IP
addresses. A private IP address enables the instance to communicate with other instances inside the VCN, or with
hosts in your on-premises network (via an IPSec VPN or Oracle Cloud Infrastructure FastConnect). A public IP address
enables the instance to communicate with hosts on the internet. Reference: https://docs.cloud.oracle.com/en-
us/iaas/Content/Network/Tasks/managingIPaddresses.htm 

 

QUESTION 3
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What is the frequency of OCI usage report generation? 

A. Weekly 

B. Monthly 

C. Annually 

D. Daily 

Correct Answer: D 

A usage report is a comma-separated value (CSV) file that can be used to get a detailed breakdown of resources in
Oracle Cloud Infrastructure for audit or invoice reconciliation. The usage report is automatically generated daily, and is
stored in an Oracle-owned Object Storage bucket. It contains one row per each Oracle Cloud Infrastructure resource
(such as instance, Object Storage bucket, VNIC) per hour along with consumption information, metadata, and tags.
Usage reports generally contain 24 hours of usage data, although occasionally a usage report may contain late-arriving
data that is older than 24 hours. Usage reports are retained for one year. 

Reference: https://docs.cloud.oracle.com/en-us/iaas/Content/Billing/Concepts/billingoverview.htm https://
docs.cloud.oracle.com/en-us/iaas/Content/Billing/Concepts/usagereportsoverview.htm 

 

QUESTION 4

OCI budgets can be set on which two options? 

A. Cost-tracking tags 

B. Free-form tags 

C. Compartments 

D. Virtual Cloud Network 

E. Tenancy 

Correct Answer: AC 

In OCI a budget can be used to set soft limits on your Oracle Cloud Infrastructure spending. You can set alerts on your
budget to let you know when you might exceed your budget, and you can view all of your budgets and spending from
one single place in the Oracle Cloud Infrastructure console. Budgets are set on 

1. 

Cost-tracking tags 

2. 

Compartments (including the root compartment) 

Reference: https://docs.cloud.oracle.com/en-us/iaas/Content/Billing/Concepts/budgetsoverview.htm 

 

QUESTION 5
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Which is NOT available to you whenever Oracle Cloud Infrastructure creates or resolves an incident? 

A. Twitter notifications 

B. Text Message notifications 

C. Email notifications 

D. Webhook notifications 

Correct Answer: A 

The Oracle Cloud Infrastructure Notifications service broadcasts messages to distributed components through a publish-
subscribe pattern, delivering secure, highly reliable, low latency and durable messages for applications hosted on
Oracle Cloud Infrastructure and externally. Use Notifications to get notified when event rules are triggered or alarms are
breached, or to directly publish a message. Messages sent out as email by the Oracle Cloud Infrastructure Notifications
service are processed and delivered through Oracle resources 

Reference: https://docs.cloud.oracle.com/en-us/iaas/Content/Notification/Concepts/notificationoverview.htm 
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